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No. of Questions : 150
el @7 WeET ;150
wisie g o
Tine . 25 Hours | [ Full Marks ;: 450
Y.
WY (25 g ] [ qurfg: 450

Note: (i) Attempt as many questions as you can. Fach question carries 3 (Three)

marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

HErBIRD I BT BA @ B VTS B | Ghd U 3 (@) o @ ¥ | ptw
eI SR @ fofY UF 3 BIET TRAT | vciis Saa WeA &l ardis g @

(i) 1f more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

afe vails dEfeas IT% W TR @ fee udid 8 @ Sreean w9 2

1. Which is the right sequence of management functions ?

(1) Planning, Organising, Staffing, Directing, Co-ordinating, Controlling
(2) Planning, Organising, Directing, Staffing, Co-ordinating, Controlling
(3) Planning, Organising, Staffing, Co-ordinating, Directing, Controlling
(4) Planning, Organising, Directing, Co-ordinating, Staffing, Controlling
TERTERTT T E BE-9] UE w8 Y

(1) s, wres, werhe, FrdeE, wweaa, Frgo

(2) fraroe, wren, Fdes, wrft, wamaa, g

(3) fyara=, wmes, Wi, an-aa, fadem, Peo

(4) foraE, Hres, FeeE, g9, wiith, A

2. Free-rein direction’ means :
(1) Do whatever is appropriate (2) Do whatever vou like
(3) Do whatever you feel convenient  {4) Do whatever you feel appropriate
Fat Frde & s &
(1) 1 sfad 81 98 & (2) T AP THE B TE WY
(3) @ e AT giemrEe @ ag H () O 9w Sfed 7 @' #

(3) P.T.0.
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3. Anorganization engaged in purchasing and selling of services i calbed :

{1y Business organization (2) Trading organization
() Commercial organization (4) Industrial organization
v e o dast @ Fo-wa § T § SW FE w8

(1) @madiis A (2) @i Ted

(3) wiftrfoms wHaeH (4) ahea@ffe wred

4. From the following which is not a factor affecting decision relating to selection of

a direction technique ?

(1} Nature of subordinates (2} Nature of work

(3) Nature of customers (4) Nature of peers

Srefafg § 9 B-A BRE FRyE @ aede @ 9gT B W TeT He @ 7
(1) EilRen @ upa (2) @d @ uFh

(3) UTEH Bl A (4) W ofat @ mefa

5. Which of the following form of organization is the most fertile place for
innovative ideas ?

(1) Project organization (2) Functional organization
{3) Committee organization {4) Matrix organization
Prefafiag # | SF-91 @29 @ 9T ore far & warm Syers: e 8 7
(1) aREeET @A (2) @S HTS
(3) ®HST WIS (4) HfgTq drew
6. 'CPM' was developedin:
(1) United States of America (2) Japan
(3) Germany {4) France
wrdfgE (CPM) RIwR garm
(1) wgea g amiRa 3 (2) W A
(3) wuA H (4) e 9
7. "Management means decision making.” This statement is of ;
(1) Moore (2) Simon (3) Davis (4) Appley
v @1 orerg fviga W og ) g8 @A §
(1) oY @1 (2) g B (3) M @ (4) O =

(4)
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Which of the following is not an element of sound departmentation ?

(1) Control (2) Co-ordination (3) Specialization (4) Supervision
= 4 9 e9-a1 gog e & o 78 & 2
(1) fg=m (2) wHaa (3) fafiriaor (4) oderor

The formulation of future course of action by the management keeping in mind
the competitors expected course of action is called :

(1) Programme (2) Objective (3) Policy (4) Strategy
sfoaifial & wwifan fhareant &1 e 8§ wad g e gy e frarderdt @
HIUTET B FET W g

(1) @dwd (2) J9Ey (3) ffa (4) Tordtf
Scientific concept in management was propounded by :

(1) Emerson (2) Gantt (3) Favol (4) Tavlor

vay & & 0 s uew @ Qe @1 afourgd B e

(1) 399 4 (2) g A (3) wIre (4) <o A

The focus of planning is . _

(1} Objectives (2) Policies (3) Methods (4) All of the above
fFrie &1 B fdg B 2

(1) Sg<w (2y fer (3) fafergt (4) Toge Wt

When the subordinates have become indisciplined, the most suitable technique
of direction will be :

(1) Democratic technique (2) Autocratic technique

(3) Free-rein technique (4) None of the above

4 i SEETATEE B T g, @ FiEe @ waw Iugen abeie g
(1) WA qaeh (2) TFTLTE THE

(3) faty g e (4) TR H W FE TH

Find out the odd from the following with reference to the types of co-ordination :
(1) Internal co-ordination (2) Self co-ordination

(3) Vertical co-ordination (4) Horizontal co-ordination
T @ vaR @ ded §, fafaflyd d 9 Rfww 97 s e

(1) aRa® yH=Z (2) vad Ty

(3) FTEga FH<a (4) &7 vy

(5) PT.O.
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14, Direcliom mcludes

(1) Order (2) Supervision (3} Guidance (4) All ol the above
(1) sifev (2) e (3) TR (1) THRrEE W

15, Which of the following is not true ?
(1} Request in line organization flow [rom boltom to top
{2} One number organization 1s possible
(3} Informal organization is formed naturally
{4} Line organization is most suitable for small units
frsfarftaa A @ a1 48 78 g ?
(1) ¥ |7eT | e A" U T #) guifde 9w #
(2) UH wEwhd Wi Wi 8
(3) sritTETiia Hed welos wu ¥ A g
(4) B @l g YIm Hes wahi 9Ed v f
16. The monetary policy is announced by the :
{1} Covernor of RBI (2} President of India
{3) Prime Minister (4} SEBI
Aifgw S oifug & ol &
(1) wd dw 3l sfsm & o g=1 (2) 9Ra & iy g

(3) WETHAT g (4) 20t (SEBI) g
17.  United Trade Union Congress is an organization of :
(1) Workers {2) Businessmen
(3) Producers (4) Leaders
TASES £F THATT i e &
(1) HIEIRI @ (2) Al &
{3) Fana-adaia @ (4} -IEH3
18.  Regulatory environment includes ;
(1) Fundamental right {2) Fund
(3) Capital () Society
M aramEre § afnfeg 2 |
(1) oo fawr (2) AR
(3) = (4) T
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assoclaled with Industrial relations in India ?

.H i3 Kuri'u:*{‘.l (2) Gadgil (3) V.V, Giri (4} Vinoba Bhave
VR WITE 4 et wrer @ qordtasy f‘h*ﬁ],fqgm WEY
(1) @0 HRaq (2) e (3) do d0 IR (&) RewEr

The major provisions for employees health and safety are contained in :
(1} The Industriai Disputes Act, 1947

(2} The Factories Act, 1948

(3} The Industrial Employment (Standing Orders) Act, 1946

{4} The Employees Compensation Act, 1923

eI} & wanen Ug RE ¥ T (e g e #

(1} 3itenfe fgre sfafgm, 1947 9

(2) I AR, 1948 A

(3) sfrenfira Aot (RST ady) sfafm, 1946 4

(4) wHar afegd afafrzs 1923 4§

What is the method used to determine wage differentials ?

(1) Merit rating (2) Job design

(3) Job evaluation (4) Job analysis
fnrgTeTs worgst et A fhw Rl @& wanr g 7

() ®\fE I (2) &7 fEwmga
13} ST HegTh (4) T frvyo

The Industrial Policy resolution in India was passed in :
wred & aienfe Afy g ofita EHT AT :

(1) 193149 (2) 1947 # (3) 1956 # (4) 1999 ¥
Under Industrial Policy 1991 which of the industries are reserved for public
sector ?

(1) Railways (2} Coal

(3 Automobiles (4) Iron and Steel

Fenia AT 1991 & o0 B0 U @EEE S 8y ARk 8 7

(1y ¥eid (2} hlaen

(3 SRR (1) e Ud e

(7) P.T.O.
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24. The "heavy Industry” strategy of the Mahalanobis model was initiated in

(1) Firstplan (2} Second plan
{3} Third plan (4) Fourth plan

HT FET wE T @ HECATERT ATee B YO g

(1) 9" gra-n o ) R B
(3) gara QrFar (1) =gt A 3

25. Inwhich year Foreign Exchange Management Act (FEMA) was adopted by the
parliament in India 7

(1) 1996 (2) 1997 (3) 1998 (4) 1999

uRe #, wwg 9 el Rl wE sf@fem (FEMA) @1 fes o 3 i e 2

(1) 1996 (2) 1997 (3) 1998 (4) T9yy
26. SAFIA isrelated to:

(1) SAARC {(2) IBRD (3) IMF (4) TFC

arel (SAFTA) vl 2

(1) wrsw (2) I H IR TR IE WG E (4) M oum
27.  The trade theory of absolute advanlage was developed by :

{1} Haberler (2) David Ricardo

(3) Adam Smith (4) Alfered Marshall

g STETIET § @R g @ [defyg e 2

(1) &eoiv 4 (2) 3fas el 3

(3) T=A i\ (4) AT 4 A
28. When the per capita income is maximum, the population is :

(1} Under population (2) Over population

(3} Optimum population {(4) Static population

oty uftr arfee amg arfeeo € o) weder @

(1) e ST (2) wfey w=reie

(3) ITH FTTEEn (4) e iz

(8)
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To which of the following, the ‘Golden Revolution' relates to the development
of Agricultural products ?

(1} Qilseeds (2) Pulses

(3) Horticultural products (4) Fodder

Tegd RaeEr" B 4 9 (6w $70 gag & faem 9 wafug 2 7

(1) foeres (2) werEd

(3) @FTET STE (4) =@

SDR is:

(1) A liability (2) A paper gold

(3) An assets (4} Aninternational unit of currency
THIINR &

(1) @ <fie (2) TF FTai @

(3) U A (4) T IR Aifew e
Unity of command is violated under :

(1) Line Organization {(2) Line and Staff Organization
(3) Functional Organization (4) Scalar Organization

frder @1 Udal F1 Sooigd Bl &

(1) @1 e | (2) T @ HEAN F@EA #

(3) frarers Hred ¥ (4) Wurfie dreT #

Which of the following concepts has been propounded by F. W. Taylor ?
(1) Committee Organizalion (2) Functional Organization
(3) Line and Staff Organization (4) Line Organization
feafafag & 9 f5g s &1 aftueT tHo e ¢er o fhor & 2

(1) |fAfd \wTed (2) FaraTs S+

(3) YT 9 HHAN] WG (4) Y1 |

Which of the following is also known as the Scalar Organization ?

(1) Line Organization ' {2) Staff Organization
(3) Functional Organization (4) Project Organization
Frefaftag & 9 5 | dmea & A A 1 @ e 2@ 7

(1) ¥@1 drea (2) FER TIeA

(3) fraes e (4) 9T WTes

(9) PT.C:
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i i ) o . g : A p)
34, WWhich of the following has its origin rooted in Military Organization :

(1) Staff Organization (2} Functional Organization
(3) Line Organization {4} Project Organization
ffea 4 9 Pvgemr Same F=1 daee B wel W st gan g v

(1) @H=mRt Firea (2) Frams wea

(3) ¥ g (1) uReeE Tree

35.  Which one of the following docs wof characterize a Line and Stalf Orgarization ?
(1) Comflict

(2) Expert advice

(3) Harmony

(4) Vertical flow of authority and responsibility

Trefad § ¥ @ Y o Fan wree o fR[dea g8 g v

(1) e (2) fais wee

(3) T (4) afdree st rfires @ wvead vale
36. The board of directors of a joint stock company is selected by the :

(1) employees (2) general public

{3) government (4) shareholders

T Gt arell e % Fews wvee & aud fr e @

(1) @HoRA} g (2) UIHTFT ST BN

(3) YW@ BT (4) arFenfgt gror

37. Liability of a partner is:
(1) unlimited
(2) limited to the extent of his share in profit
(3) Timited to the extent of his capital
{4) limited to the extent of his share of loss
TE e @l gifde
(1) > gar g
(2) T F IEG w7 3 W ae Gty @ @
(3) IHPT ol B W o DT ww R
(4) SESH BN & &7 a% Wi 2 &

(10)
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If all the partners are insolvent except one, :

(1) only partnership is dissolved

(2} partnership agreement is dissolved

(3) the insolvent partners are automatically thrown out from the business
(4) partnership firm is dissolved

gfe U B BIEEY THW WRER fLafe & a9 ¢

(1) @aa FEed &1 fQueT & o &

(2) |TERN @gr &1 fges & o @

(3) Rafam wEer @t wu 4 agam 9 oy & oK €
(4) WERR B @ fdged 8 9§

As per Companies Act, 2013 a company can be formed :

(1) even with one person

{2) with not less than two persons

(3) with a minimum of seven persons

{4) with a minimum of fifty persons

wrot afefiam, 2013 & A aR 1 FRE & i 8 e
(1) @ast TP @l & A

(2) =1 | FH @ W A

(3) &9 | F¥ AT A

(4) B9 A FA TN L ¥

As per the Companies Act, 2013, the limit of the number of members for a
private company 1s :

(1) Fifty (2) Hundred (3) Two Hundred (4) Unlimited
Fe) AR 2013 B SFER Uh Fioll B & wewdll &1 e @ d@e
(1) w=mH (2) =@ (3) 31 W (4) afifeE

The combination of units engaged in production of a commodity in upward
stages of an industry is :

(1) forward vertical combination (2) backward vertical combination
(3) forward lateral combination (4) forward diagonal combination
(11) PT.O.
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Uh SEE W RS aRg B oSwed & 0 ed ¥ wafha W arl semdl @

ATAT
(1} FTEY s HaTer gldl 8 (2) gweEmHt FREg @ahaT gy 8
(3) FTE TEE WG e g (4) 3 Eeem Ehw S §

42. When some manufacturing units combine with a unit engaged in
manufacturing a main product using the products of such combining units as
raw material, it is a case of

(1) convergent lateral combination (2} diagonal combination

(3} circular combination (4) convergent diagonal combination

wa o el SR AR O FEE S wy i a8 g W B e e
3EE ® Iered # Y Tuift &1 gl gergdi @ SR B g ae © ey 4
g @Y T8l 8 dd T e B

(1} Feefvme diee 3T 2y famoita e

(3) geite Haraw (4) weirgE Redl Wares
43. Cartel is Jormed with the objective of controlling :

(1) middlemen (2) speculators

(3) service providers (4) sales

Fiee g W PR &9 & 95890 § g9 olidi & 7

(1) faeifermT ov (2) WAl uy
(3) WG TETdIsl ¥ (4) fama w

44, Which one of the following is the odd one out ?

(1) ACC (2) Coal India (3) SAIL (4} SEBI

Frfeftag 1 ¥ e fQug 2 2

(1) o= (2) @it gftsar (3) W& (4} W
45.  Which one of the following 1s a form of [ederation ?

(1} pool (2) holding company

(3) trade union {(4) merger

[Fefefag # o @19 BewE &1 Wey § ¢

(1) e (2) R HR)

(3} = Hy (1) wifderr

(12)
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Narsimhan Committee was related to -

(1} Higher Education reforms (2) Tax structure reforms
(3) Banking structure reforms (4) Medical facility reforms
e afafy wefin o

(1) I= e um @ (2) ®Y TEAT QR H

(3) @ dyam g 9 (4) ¥Ry g gum 9
Which organization issues Monetary Policy in India ?

(1) Parliament (2) Reserve Bank of India
(3) State Bank of India (4) Ministry of Finance
qud ¥ difge N &1t s deen s g ?

(1) wag (2) wwdra R d@

(3) wdg we 45 (4) T A=mera

Which of the following is a feature of good money ?

(1) Abundantly available to everybody

(2) Shining and clean coins

(3) Acceptable by everybody

(4) Perishable

Feifhet d & aredl Ha1 &1 BT olero) B 7
(1) 9o =ifie P age wr § Suew
(2) TwER Ud W Ryaw

(3) wrE B ward

(4) ¥R

Which of the following is ot a function of a Commercial Bank ?
(1) Ensuring security for loans

(2) Issuing and processing Credit Cards
(3) Dealing in foreign exchange

(4) Controlling monelary policy

(13) P.T.O.
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50.

51.

22.

23.

T iw @ i ¥ 4 oF-m o J8 g 7
(1) =rvT &g [ &1 H79aad

(2) #fee &= @ e w3 o

(3) fasdh fefma F o

(1) wifeew Hifg = o=

The International Bank for Reconstruction and Development (The World Bank)
was established in the vear :

IR gArar aen e 4o (faeg da) @ vao g8 o

(1) 1944 # (2) 1945 H (3) 1951 # (4) 1961 #
Who regulates the busmess of mutual funds in India ?

{1} Reserve Bank of India {2) Ministry of Finance
(3} SEBI (4) Stock Exchanges
(1) wam Rod &5 (2) faa F=m0rm

(3) ¥ (4) e Ruforet
Fixed Deposit 15 also referred to as :

(1) Term Deposit {2) Recurring Deposit
{3) Demand Deposit (4) Current Deposit
4% @1 frere W af¥r (Fixed Deposit) &7 ST oma &

(1) =9 fedifore (2) v feifire

(3) fomre fedifire (4) wre fuifee

When criminals use innocent persons detail to open or use an account to carry
out financial transactions, it is known as :

(1) Money Laundering (2) Phishing
(3) Identitv Theft (4) Real Time Gross Settlement

9 g ®1, R o9 seRe) fely afiet 3 Rewr o awgnr sy soe o
Fi GHIAN FRU &, a1 I wEd &

(1) =1 odffagn (2) finfarr
(3) wgefed aue 1) RTa TEw ot deaie

(14)
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[n the ficld of banking sector, what is the full form of ECS ?
(1) E-commerce Service
(2) Entity Component System
{3} Embodied Cognitive Science
{(4) Electronic Clearing Service
dfeper e A € W v (ECS) & sy fea wreg 91 8 7
1) F-mfaed wfdw
(2) ufedt awre Rren
) THEIfee Siffaieg wigw
(4) TeEgiS TR widg
Which of the following organisation provides guarantee to the exporters ?
(1) Exim Bank
(2) Export Credit Guarantee Corporation
(3) Director General of Foreign Trade
(4) Reserve Bank of India
Fratael & frafafad #§ & siF—ar 97ed TReE yerE oedr 2 2
(1) gfiras da
(2) fram |rg aRedy BTy
(3) mEfRue el amw
(4 AT ﬁ@[ff Eog
Which of the following organisalions issucs the rules of global trade ?
(1) World Bank
(2) International Monetary Fund
(3) World Trade Organisation
(4} [nternational Finance Corporation
dftgs cmur @ Fras e FEfateg § @ - d@ue i s g ?
(1) freg o4&
(2) arciedTy 7T B
(3) 999 @R dusH
(4) sl g frme

(15) P.T.O.
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57.  The headquarters of INF and World Bank are located al :

58.

59.

60.

(1} Geneva and Montreal

(31 New York and Geneva

(2} Geneva and Vienna

(4) Washington DC

TS T UF U9 e o b ey Red €

(1) forran wa mifgoe
(3) = ve faeen #

(2) fo=ar gg faoen o
(4) afErreT SRf §

Which of the following is a retail banking product ?

(1) Home loans

(3} Corporate term loans

(2) Working capital finance

(4) Infrastructure financing

wadd dfT Sarg e 3 9 ete—a g 7

(1) =g =0

(3) FmiT waEE s

What is the full form of ‘NSE' ?

(1) New Service Exchange

(3) National Stock Exchange

T UH ¥ (NSE) &1 9 wy aup ¢ 7
(1) = widw gawd~

(3) =9Ha eih sEHu

The abbreviation 'EMV' stands for :
{1} European Marginal Vat

(2) Expected Monetary Value

{3) Essential Monthlv Voucher

(4) Europay, Master Card and Visa
2 A (EMV) &7 o %9 &

(1) At sfvea 3e

(2) gawuats wifyed doy

(3) ¥y weaer araas

(4) WM, AREY Fre @ fra

(16)

(2) ®riee goft fam

(4) arErETETIeTE fod

(2) New Stock Evaluation

(4) National Service Emporium

(2) = WP YL
(4) #ore wfda genfrom
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61. Which of the following statement related to Perfect Compelition is not correct ?
(1) The price elasticity of demand is infinity
(2) AR is equal to MR
(3) Buyers have perfect knowledge of market
(4) Firms earn supernormal profit in the long run
o sfeantiar @ wefe Fefafad 3 @ s sum ad 98 2 7
(1) 5T @1 SHd &g aea gnt 2
(2) AR 3" MR @wwEv 84 &
(3) dawl B R H O AEE e
(4) Wi Sdwra § aftvs am aiig == Tad &
62. According to the law of diminishing marginal utility :
(1) Total utility is at a maximum with the first unit
(2) Increasing units of consumplion increase the marginal utility
(3) Total utility will rise at a falling rate as more units are consumed
(4) Marginal product will fall as more units are consumed
A guaifiver g9 w @ SR
(1) wem 31 W He wadifar sfeday gndt &
(2) I 9 gamg W gfe wie swifiar # gfg and @
(3) F gHTEaT BT IV I W HA TGN Fed & W Fgal 8
(4) aifrs gergdl & TWE ¥ WHig S gedl 8
63. Thelaw equi-marginal utility is otherwise called as:
(1) Law of subslitution
(2) Law of diminishing MU
{3) Law of negative relurns

(4) None of these
(17) P.T.O.
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WA ITARE P @) el S
(1) vl & a4

{2) wed MU &1 R

(3) =S Wit & [y

() g4 ¢ B 8

64. Under Perfect Competition a firm even alter mourning  loss continues

procduction till

(1} Price = AC (2) Price = AFC  (3) Price = AVC (8 Price= |

ul wiadifher & arerfa @ifY €9 & arg W uw BH 8T TE GRgs o e T

(1) &7 = AC (2) ™FT = AFC  (3) @M= AVC () wsp= 10
65. Which of the following in net a feature of Oligopoly ?

1y Small number of sellers

{2) Absence of mutual dependence of firms

{3) Possibility of firm forming cartel

(4) All of the above

Fr=tferfta # & @ siniBen @ fdwar 7¢f & 7

(1) wHl & FA T

(2) ®H B T fdvar w1 e

(3) FA EW @ied (Seew WH) A B Wi

(4) FTEd WA
66. Under Kinked demand curve model of Oligopoly :

(1) Price once fixed is rigid

(2) Elasticity of the upper and lower portions of demand curve diifere

(3) Gap between the MR curve depends on difference in elastivitios of
upper and lower portions

it

(4} Al of the above

(18)



67.

68.

18U/101/23(Set-1)
AR & fgfe 7 ap wey #
(1) ve ar FeifRa 8 13 9w g5 e 8
(2) AT g W wHae 3l e ey @ o e Bl 8
(3) MR 9% # 3rerrel SUdl 3 frgel e @ o A orvaw W PR #var @
(4) Fo¥rEE WAl
If the price of goods increases, then :
(1) Demand for complementary goods will increase
(2) Demand for substitute goods will increase
(3) Demand for the good will decrease
(4) Both (2)and (3)
afy faed avg o $ma 4 gfE B 8 o
(1) @ awqalt @ Hhr # o &
(2) v aegatt @ A A gf enf
(3) 9@ Twg B A F @ gl
(4) (2) 3 (3) =
An individual demand curve slopes downward to the right because of the :
(1) Working of the law of diminishing marginal utility
(2) Substitution effect of decrease in price
(3) Income effect of fall in Price
(4) All of the above
v T |1 A E AR A & o A Edr & e
(1) dra saafer g fem &m @ @
(2) e & 0 T HTARONTE I BT IRl
(3) @ § BN BT G HAE B BT E
(4) IURIGS TqHI

(19) P.F.CL
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69. Which of the following is a characteristic of pure monopoly ?
(1) Low Price Elasticity of Demand
(2) Low barriers of entry
(3 Clt‘;ﬁe subsitute products
(4) Perfect information
Fefafed # @ B 5 refer @ ke & 7
(1) Fr=t w7 @) aer w@re
(2) Wi & G W = e
(3) Fme werme= gag
) T @

70. In pure monopoly, what is the relation between Lhe price and the marginal
revenue !

(1) Price is greater than the marginal revenue

(2} Price is less than the marginal revenue

(3) There is no relation

(4) They are equal

UE THIRER § B od S s @ g wn g By 2
(1) g W@eE s @ afde o &

(2) AT WA ATTH @ wE gl 2

(3) &% Wy T8 @

(4) 4 9w SR B #

71, Asper the law of equi-marginal utility in equilibrium

(1) MUx/Px = MUy /Py = MUm (2) MUx/Px >MUm
(3) MUx/Px <« MUm (4) Both (2) and (3)
- S fa @ s e o -

{1) MUx/Px = MUy /Py = MUm {2) MUx/Px > MUm
(3) MUx/Px < MUm (4) (2)7d (3) AT

(20)
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18U/101/23(Set-1/

If marginal utility is zero :

(1) Total utility is maximized

(2} An additional unit of consumption will decrease tolal ulility
(3) An additional unit of consumption will increase total utility
(4) Both (1) and (2)

afe S Syt I 8

(1) Ha sy afdeda grfl

(2) SYHRT @1 U SRET $HTE FE STAT H A A

(3) ST @ UF sfRad 39 g st § gie A

(4) (1) @ (2) =

Which of the following is added to national income while calculating personal
income ?

(1) Transfer payments to individuals  (2) Social security contributions
(3) Corporate taxes (4) Undistributed profits
SfRTTE AT @ 7o e wHy PrEfofea § @ 50 v amg F wrer e & 7
(1) erfedi @ fiem arel swamRe s (2) AT JRe AT

(3) frmm &% (4) afffafia &M

Which statement about GDP is correct ?

(1) GNP -(X-M)=GDP

(2) Nominal GDP is the value of GDP at the constant prices

(3) GDP = Wage + Profit + Interest

{(4) Both (1) & (2)

GDP @& Wy # hi4—a1 $U= el § ?

{1) GNP -(X-M)=GDP

(2) #ifzw GDP, Rer g1t ™ GDP &1 5[0 &

(3) GDP = Halgy! + o™ + =Uid

(4) (1) Td (2) &5

(21) P.T.O.
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5.

76.

The balance of trade refers to
(1) income receipts minus income payments on investments
{2) the balance of untlateral transfers

(3} merchandise exports plus service exports minus the sum of merchandise
and service imports

(4} merchandise exports minus merchandise imports

SR W ¥ AW g @

(1) a9 43 yra TR e wrar

(2) U 9&lE BXiETT & e

(3) Tt @ fPrata ug e @1 Pl 9 awgel v Al & aram @ o

(4) awget W I b awsl @ ¥R

Which of the following statement is true ?

(1) New issue market deals with new securities

(2) New issue markel deals existing securilies

(3) New issue market deals with listed securities

(4) New issue market deals with only debt securities
Freifalag # & $9—w o209 geg & °

(1) =14 FrbmE aome 7dm sftngerat & aer wiey e @
(2) =a fvile arem Ager wffaat @ wer wien e @
(3) -4 Frfae SR gEve ot @ e < e @
(4) 77 Pt aeR dae o7 ufengfadl # ey svar

(22)
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80.

18U/101/23(Set-1)

Capital market is not regulated by :

(1) Securities and Exchange Board of India Act
(2) Reserve Bank of India Act

(3) Depositories Act

(4) Companies Act

TR e @l Pyme 78 8

(1) wwera gfafa vd R 9 st

(2) 9o fod 9% et

(3) femfored srfafrm

(4) e afalEE

When a right to purchase securilies is given, it is known as ;

(1) Call option (2) Pul option

(3) Call and put option (4) All of the above

s wRnft & o @ JiReR R oar @ @ 98 Feen €

(1) & [dHey (2) qe fawen

(3) @it 9 G fasey (4) SR W

The method used in the floatation of securities in New Issue Market is called :
(1} Publicissue (2) Offer for sale

(3) Placement (4) All of the above

79 Prted g § ufeefddt @ o o @ fan wanr @ W et U @) FE
T

(1) wddAfrE S (2) faght & fare o

(3) werod (4) IwE a4

[DR stands for :

(1) Indian Depository Receipt (2} Initial Deposit Receipl

{3} Investment Depository Receipt (4) None of these

(23) P.T.0.
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ago To N0 § wuR B

(1) W Rofed wi (2) uwtves e w8l
(3) fafFm famfires vl (1) 378 ¥ g )

81. Which one 1s net a money markel instrument ?
(1) Treasury Bill (21 Bill of Exchange
(3) Commercial Paper (4) Bond

PIA—T HaT AR BT ZEET TG 8 7

(1) gard faa (2 fafm fas
(3} wrhTe Onw (4) @iy
g2, Treasury Bill period is generally
(11 91 Days (2) 182 Days
(3) 364 Days (4) All of the above
curd) e & safy wErnaar &d 2
(1) 91 2= (2) 182124
(3) 364 faq (4) TuLeh] a9

83. The minimum maturity period for which the commercial paper issued s

(1) 6 Days (2) 7 Days (3) 8 Days (4] 10 Days
Fare =gt uituerrer srafer & fog mdtaer dur oIl fg wigr g ¢
(1 6 (2) 7fET (3) 8fa4 (4) 10 fa=
84.  Which is not fixed income security ?
(1) Bond (2) Debenture
(3} Deep Discount Bond (4) None of these
Wi - Re anm gify 98 & 2
(1) afwg (2) FUgH
(3) 3 fevarc dvg (4) & 9T @13 8
85. Bond's vield, depends on ;
(1) Par Value (2) Coupon Rate
(3) Maturity (4} All of the above

(24)
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Ba»

89.

18U/ 01/23(Sery

q0E H gy fante @

(1) FA9e (2) @u- a3

(3) aRyeae (4) g wd

Short term funds are dealt in

(1) Capitai market {2) Money market

(3) Commodity market (4) None of these

sregadte A &1 wiey f&5d o €

(1) goft g ¥ (2) H&T STaR H

(3) g TR A (4) 378 @ ®E T

The Certificate of Deposit shall be issued for a minimum maturity period of :
(1) 6Days (2) 7 Days (3) 8 Days (4) 15 Days

AT THITE AT BF 9 $F uNUgEeT aafy & o W 5y o aw €
(1) efeaiadfor (@) 7RAI*far  (3) sfRAM e fag  (4) 15RF1 & ¥

Certificate of Deposit can be issued for a maximum maturity period of :

(1) 45 Days (2) 60 Days

(3) 12 Months {4} 90 Days

R gETYE W] siferdad uRvaga emfe @ fde ol R 9 wed £ g8 2
(1) 45 3= & forw (2) 60 &=t & fag

(3) 12 #eAT & g (4) 90 fe=it & fary
Debentures are traded in:

{1) Stock Exchange (2) Money Market

(3) Commodity Exchange (4) All of the above
FUTTAT HT FRIER El 8

(1) 3= faufor & (2) T g A

(3) awg faufor ¥ (4) IuRTad @1

A debenture does not have :

(1) Fixed intercst rate (2) Maturity period

{3) Voting right (4) Priority in hiquidation

{257) PT.O.
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91.

92.

93.

T SRS 4§ Jg8 Y
(1) Qe anel o (2) uRyeagar arafer
(3) =T afEw (4) TR A

Which of the following are techniques, tools or methods of analvsis and
interpretation of financial statements ?

(1) Ralio analvsis (2) Average analvsis
(3} Trend analysis (4} All of the above

f=forfea 4 @ @9 Rdy fGaee & Gvomm 3o Bdag & awds, SgeeT
perar faferdt € 7

(1) g fazemo (2) i Qo
(3) ugfhr f&zemmo (4) IoIERT T

A financial statement that shows both rupees and percentages in the report is
referred o as |

(1} A Balance Sheet (2) A Commaon Size Statement
(3] A Proportional Financial Statement (4) A Relative Statement of Equisy
i faaeor (ofods) Prad ewar aen sfem S 29for @ & 99 wee ¢

(1) frer (2} WA NER Wi e
(3) suriers faeiry fages (4} HHTT FT wider fQaver

Which one of the following statement is not true ?

(1) Financial statements are important source of information to sharcholders
and stakeholders.

(2} Return on Equity and Earnings per share are one and the same thing,
(3} In calculating acid test ratio, Inventory is not inciuded in current assets.
(4} Debt-Equity Ratio is a measure of long-term solvency of a firm
et sadl ¥ & SiF-ar e wo FE e ?
(1) e od R et & o iy e, gt @ U Wi AT F |
(2) 91 R GET AT BRI 39S U ol v & ai ol #
(3) 3IPT U AU H TN FE A @1 g waferat 4 w8 qfefET S w
Bl
(4) T WA BF F SR T SHAT BT AT By #
(26)
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Du Pont Analysis relates to:

(1) Analysis of current assets (2) Analysis of profit

(3) Capital budgeting (4) Analysis of fixed assets
g df fzewer wrfd gar 8

(1) = w=ufml & fAveiss A (2) @ & e &

(3) ot guies W (4) Torg waaftral @ fagewo 9
Inventory Turnover measures the relationship of inventory with :
(1) Average sales (2) Costof goods sold

(3) Total purchases (4) Total assets

efear anad (svqur) A, wEfoa @1 W A o @

(1) sivaa famg | (2) fama wra o oA |
(3) Te BT W (4) @@ vl A

Which of the following does net help to increase Current Ratio ?

(1) Issue of Debentures to buy Stock

(2) Issue of Debentures to pay Creditors

(3) Sale of Investment to pay Creditors

(4) Availing Bank Overdraft to buy Machine

Prmfafies ¥ @ fbwd g1 o] v & gig & wergan 787 fiereh & ¢
(1) Wid & By @ &8 Foa=s ol B

(2) w=ERl @ YA & {6y SogE Sl e

(3) oERl @ A & R Rfvae s Ry

(4) 99w T T o 95 aleRgae o

Which of the following liabilities are taken into account for calculating Acid
Test Ratio ?

(A) Trade creditors

(B) Bills payable

(C) Outstanding expenses

(D) Bank overdraft

(E) Redeemable debentures

(1) (A), (B), (C), (D) and (E) (2) (A),(B), (Cjand (D)

(3) (A). (B)and (C) (4) (A)and (B)

(27 ) PTO.
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98.

99,

s TR aaE @ vEr § ffeRen aftdl § @ e e ST B Y

(A) @MGRE e

(B) %7 fau=

(C) 3rEd g

(D) d& sravgae

(E) faoi=g =zvm=

(1) (A), (B), (C), (D) T3 (E) {2) (A), (B), (C) va (D)

(3) (A), (B)wd (C) (4) (A)ud (B)

In a stattment of cash flows (indirect method), a decrease in inventory should

be reported as '

(1) A deduction from nel income in determining cash flows from operating
activilies

(2) Fm. :'-!dditiﬂn to net income in determining cash flows from operating
activities

(3) Anincrease in investing activity

{4} Not reported

s WaTE (aTUcoe faiE) Rever § 318 F w9 W gwiby wen wifke

(1) uRtare frasit o Ve waE @ Fuior § gg g ® e @ w5y 9

(2) OR=ETER s ¥ s v & PuRe ¥ I am @ @ w7 8

(3) fafarm o & ofg @ wu d

(4) @@ T (3= B)

'Cash from Operations’ or ‘Cash flow from Operating Activities' is calculated as

(1) Net Profit + Increase in Current Assets

(2) Net Profit + Decrease in Current Liabilities

{3} Operating Profit +/- Adjustment in Current Assets and Current Liabilities

(4) Net Profit after Tax

uf¥arerd @ e duEr UREEH [t § Wee varg 1 e B 2

(1) g% o4 + @7 @t 5 gfg g

(2) g8 a™ + =1, aE A & g

(3) aR=ETTT @M+ /— die] W del 919 9ifie § e g

(4) X UEIT Y& o g

(28)
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100. According to AS-3 (Revised) purchase of fixed assets is treated as :

101.

102.

(1) Operating activity (2) Managing activity
{3) Financing activity {4) Investing activity
AS-3 (Wefae) & areR, Teng arafd @y A T §

(1) wfmrem fa | (2) waEEe B

(3) fasfra= fivan (4) faframes
Which of the following is an example of non-cash expenses ?

(1) Depreciation (2) Wages and salaries
(3) Rent of the premises (4) Telephone expenses
Frfafiag ¥ 9 #1991 RIAFs g &1 I 8 ?

(1) & (2) "o U9 @

(3) Ha= @ foern (4) ComE @Y

§

Net Profit (after tax) Rs. 70,000

Fixed Interest Charges on Debentures Rs. 10,000

Income Tax paid Rs. 70,000.

Then, Interest Coverage Ratio will be :

(1) 7 times (2) 8times (3) 14 times (4) 15 times
3

IE o™ (@Y y¥ERy) 70,000 Fo

soE] X eR =T MR 10,000 Fo

T fdar T @ 70,000 To

4, T ATERIeT AT &1 -

(1) 77 (2) 87 (3) 147 (4) 157

(29) P.T.O.
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Read the following illustration carefully and ansiwer questions from 103 & T04:

Below is the information available relating toa company:

| | 01-04-2016 31-03-2017 I!
Investment A/c Lo2000 (84000 |
| Machinery (al cost) 1,20,000 1,26,000 _ :
Provision for Depreciation | 30,000 (32000 __il

(i) During the vear, the company had sold 40% of its investments held by it
beginning of the year at a profit of Rs. 25,000.

{11) Durmg the year, machine costing Rs, 12,000 [-'_H_‘L‘l-lmlliﬂlt_‘[‘l L‘i{'prucjgti{_m Ra. 72009
was sold for Rs. 6,000.

Freifeiffam Gareeer &l eqrgdd gled Siv wvT W 103 U7 104 & guv &
6 B H W ITdE ga Aefatae #

|: 01-04-2016 _31-03-2017

R @ ] 1,02,000 8400 |
7o (T =) | 1,20,000 126000
| % W | 30,000 32,000
(1) T8 & IR, FEA A HF 9T w9 AREE Q[T 8 9 300, am "ﬂ]uﬂ ST UV A
x|

(i) @ @ <NF, ve 7 et @ 12,000 o (vwfaa &% 7,200 o) ol 4,000 Fo ¥
CEient

103. What is the value of machinery purchased during the vear ?
(1) Rs.1,26,000 (2) Rs.1,39,200 (3) Rs. 18,000 (4) Ra 6,000
o @GR FY P 0D e B e g v

(1) 1,26,000 %o (2) 1,39,200 %o (3) 18,000 %o (4) 6,000 T
104. What is the cash flows from investing activities 7

{1) Rs, 65,800 (2) Rs. 43,000 (3) Rs. 31,000 (4) Rs. 30000

fafrareT et @ dee vmE e & 7

(1) 65,800 %o (2) 43,000 %o (3} 31,000 %a (4} L0000 Bo

(30)
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Liven o IF Gross Profit Ratio is 25%, Net Profit Ratio is 12% and Sales is
Ke 21600, What is the value of Cost of the Goods Sold ?

(1 Rs. 19,008 (2) Rs. 17,200
(3} Rs. 18,892 (4) Rs. 16,200

Al - el T AU 25% 2, GF o U 12% 2 3R fima 21,600 vo & A
fagg wre & @ @) gEl 7

(1) 19,008 %o (2) 17,200 %o

(3) 18,892 %o (4) 16,200 %o

Errors in Personal and Real Accounts affect :

1y Trading Account

1) Proht and Loss Account

(3) Profit and Loss Appropriation Account

(-1} Balance Sheet

SIfRTTe qo A @l A ge e @1 o e ©
(1) @ @ oy

(2) SM-EI W W

(3) emy-elfs AT @i W

(1) fred w

Which one of the following statements is false ?

{1} Closing stock given in trial balance is shown in profit and loss account
12) Depreciation affects the value of the asset

(1) Interest on drawings is an income for business

(41 A nel profit i< a liability to the concern

(31) P.T.0.
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Pt O @1E- FUF I E 7
(1) deme 7 f2m sy wia aw-af wm § Rarm 9 8
() e @Ry © q5u &1 wifag aear &
(3) STER™ U TS @GET & & o g
(4} I8 M TR & fee e SifdE B
108. Sunidhi’s trial balance contains the following information
(a) [Discount recerved < 1,200.

(b} Provision for discount on creditors T 1,800 create a provision for discount
on creditors at 1,600,

The amount to be credited 1o profil & loss A/cis:

(1 T 1,000 2y T1400 (3} T 200 (4) 2,200
afifd @ cromre § Pretrefe qemT e § -

(a) wiwt we ¥ 1,200,

(L) oWl o ye @ form wEw T 1,800 FFEW WR UE @ fam T\ a0 w e

anlfar |
cm-eit = 1 v afze anf
(1) & 1.000 (2y ¥ 1400 (3) 7200 (43 #2200

109.  The formula of calculating annual depreciation by fixed installment method s

Valueol the Asset + Life of the Asset

(1) .
Residual Value

Cost of the Asset - Residual Value

(2}, = = :
Estimated Life of the Asset (in Years)

Cost of the Asset+ Residual Value
Estimated Life of the Assel {in Years)

(.3)

Cost of the Asset

Estimated Life of the Asset (in Years)

132)
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ﬁﬂﬁﬁmﬁﬁﬁﬁmﬁwammﬁnwwmé:
" R & qo 4+ ofy @ o wTe
AT He0

o) ¥R B AT~ srafere Aoy

FHIET BT SfBTeTT e Bt (aw 5)

A @1 AT + aRe 1o

wHf] BT Hidwferd A B (7l §)
@ T A

WA &A@l Waa drd (@u §)
A machine was purchased for ¥ 4,000 and it was estimated that it will work for
three years and at the end of its life its residual value will be ¥ 32. Find oul the

rate of depreciation, if depreciation is calculated at diminishing balance
method :

(3)

(1h 70% per annum
(2} 80% per annum
(3) 73% per annum
(4) 60% per annum

UF HEE T 4,000 ¥ wmF @ A wHE F i ofigq ae d9 3d &) e
@ 3T # T 32 AR Yod WK B @1 SIAN oAl AT | Ned €M &Y ) T
BNAT 9N Ugl © AR I

(1) 70% wfg a¥

(2) 80% wir 7%

(3) 75% ufa @

(4) 60% ufd ad

Capital redemption reserve account can be utilized for :
(1) Writing off losses

(2) Writing off miscellaneous expenditure

(3} Payment of dividend

{41 Issue of Bonus shares
(33) P.T.O.
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Yo i TRy R ) g g
(1) R @ smiaflg weE B Y

2y TR wal @) swfefaw @ @ o

(3) CATHTET TR #+ fe

(4) @=a i @ PBems o
112. Balance of forfeited share account after re-issue of fortetled shares s translorred
Liv:
(1) Profit and Loss Appropriation Account
(2) Capital Reserve Account
(3} General Reserve Account
(4) Secrel Reserve Account
war fed MY sl @ O A @ uven S sl T WU W wummealfea
fem anidT €

(1) = ud wf e e s

(2) "ol iy @
(3) AR BE Wi
(4) TR EY EE H
113, Debentures can be redeemed :
(1) Qut of profits {2} Out of capital
(3) Converling into shares 4 All of these
SureE) w1 e T e e g
(1) &4 9 (2) 9
(3) el 4 ufdadq gmr () g @

114, X Company Ltd. purchased assets worth ¥ 2850000 The conmpany paid 1

v E L] : 1 H | L .
purchase consideration by issuing debentures of T 100 cach at 47 discount. 16
" [R5 GEE i 4

nuimber of debentures issued to vendor of assels are

Nomasf [Ho AT 28,80,000 B wealyat il e T owe e ar e
R ¥ LO0 ael O @ 4% ged m i aear frar ) et g mee B

) W s et 5 9 8 -
(1) 30,000 (2) 28,800 (3) 32,000 (4} 32,5000

(34)
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Unless otherwise stated, a preference share is always presumed to be :
(1) Cumulative, participating and non-convertible

(2) Non-cumulative and non-participating

(3) Cumulative, non-participating and non-convertible

(4) Non-cumulative, participating and non-convertible

TE TH AAT F el W4, UF [@ODHR I B SN " Ay L

(1) =, “rfier vd smRadsia

(2) FHEEN 14 HHER

(3) Tgd, IriER vg yuRaaaee

(4) srrad, MR Td sRad=eE

‘A" and 'B’ are partners sharing profits in the ratio of 3: 2. 'C’ is admitted with
1/3 share in the profit. What will be the new profit sharing ratio ?

3 TUT T TS BHH 32 B WU § - dfew €1 AMH 1/3 9 B A
WIHEIR T T € | AT-81 9T 1 Far U @ar g ?

(1) 3:2:3 (2) 6:4:3 (3) 6:4:5 {4) 3:2:5
Joint Life Policy Reserve Account is transferred to :

(1) All the partners

(2) Continuing partners

(3) Retiring partners

(4) None of these

Yad wilad 49 9% $Y Wid Bl EERG a F @
(1) W IEER A

(2) Regar dsER A

(3) 3rT@TT TEV] WA dlel YIEER] ¥

(4} 3 U @I A8

(35) P.T.O.



18U/101/23(Set-1)

118.

118.

120.

121.

X', "Y' and 'Z’ arc partners sharing profits and losses in the rato of 1/, 173 and
7/15 respectively. "2’ relires and his share was taken up by "X and 'Y in the
ratio of 3 : 2. What will be the new ratio ?

X, Y T 7 WIEER € S g @1 fRaver @ 1/5, 1/3 991 7/15 @ S
O B 7 AW TEVT Nl € o Sue R WX TE Y A 302 sejuid A
foran | =41 srquTe @ 8 P

(1) 11:12 (2) 12:13 3y 12:14 (4) i0:i2

An amount of ¥ 1,000 is debited twice in the Pass Book. When overdrait as por
the cash book is the starting point, then

(1) ¥ 1,000 will be deducted
(2) ¥ 1,000 will be added
(3) ¥ 2,000 will be deducted
{(4) ¥ 2,000 will be added

© 1,000 OrEE® 4 31 1R e fen o w9 Yaw s T aRfed e feg
B, 1

e

{1y ¥ 1,000 e FEm
(2) T 1,000 Sirer A=A
(3) T 2,000 9er™gr w1
(4) ¥ 2,000 s

Bank balance as per cash book is ¥ 18,500, ¥ 4,500 is entered in the cash book as
paid into bank but not credited by the bank. The bank pass book balance i< -

W

NHS TRT T IR 46 WY T 18,500 ¥ | mw Raw F 7 4,500 $F 4 5 H ey
7w f5d il ST 9% % BT 78 B ww gw d eww

(1) 22,500 (2} ¥ 23,000 (3) ¥ 14,000 (4) T 18,300
To create "Manufacturing Hub", the programme is ;
(1) Start up India (2) Stand up India

13 Skill India (4) Make in India
(36)
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123.

(1) ¥ere am gfitem
(3) fremer gftem

The full form of GIP is

(1) Gross Industrial Policy
(2) Global Investment Policy
(3) Green Industrial Policy
(4) Gross Insurance Policy
GIP &1 gvf %1 & -

(1) ¥ geRgae dieri

(2) Talraet graweie diferd

(3) I gefgae diferd

(4) U8 TR difeh

(2) Wvs Iy ghEm
(4) w® 37 3=

18U/101/23(Set-1)

U.P’s Khadi & Village Industries Board has signed a pact to facilitale online

selling with :
(1) Flipkart

(3) Ebay

(2) Amazon India

(4) Snapdeal

IR ST B wWIal [d AT SErT 918 7 g [ ger gy ut fa 2

(1) fragse o

(3) 44 9

(37)

(2) s givear 4

(4) Fd

F.T.O
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124.

125.

126.

127.

6] rl' 1
An individual has to pay income tax during the year 2017-18 and 2018-19, when
his/her income exceeds :

U arfed @ 2017-18 U9 2018-19 & STae 29 wWe 9w S e gnf

(1) ¥3,50,000 (2} T 3,00,000 {3} ¥2,00,000 (4) T2,50,000

The Chairman of GST council is :
(1) Arvind Pangadia (2) Rajeev Kumar
{3) Arun Jaitley : (4) Narendra Mod:i

ot v & gRtvg @ aret €

(1) swfa=e wAnfear (2) ¥rg EAR
(3) 3%V SrEe (4) T @
NSE-5( is now renamed as :

(1) Sé& P CNX Nifty (2) DOLLEX
(3) BSESENSEX (4) BSE 200

T T $-50 T 99 d5aF @ AT ¥

(1) T 1w @ ¥ & gaw Ped (2) Sreia

(3) &t va § UNIE (4) & = % 200
The Chairman of 15th Finance Commission is :

{1) Anoop Singh (2) Arvind Mehta
(3) N.K. Singh (4) Shaktikanta Das

UEEY fdd HTINT & e g
(1) &g e (2) smfe= wzar

(3) THo o s (4) widrsrT I
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128. Which of the fG[lszing, rate is nol conlrolled by Reserve Bank of India ?

129,

130.

{1) Cash Reserve Ratio

(2) Cess

(3) Repo Rate

(4) Statutory Liquidity Ratio

freg (@4 ) adl 9 & el 9 Red 4o grr Frafsa 58 e s g 2
(1) sTRféa w@s s

(2) SUH

(3) T =¥

(4) enfYs Tverar s

Balance of Trade includes :

(1) Goods (2) Services

(3) Transfer payments (4) 1and 2 both
MR A= ¥ i €

(1) g (2) ward

(3) BEATEIROT AT (4) 17em 259t

A cube of side 5 cm is painted on all its faces. If it is sliced into 1 cubic
centimeter cubes, how many 1 cubic centimeter cubes will have exactlv one of

their faces painted ?

Tmﬁcmmﬁ@?ﬂ'q%ﬁlﬁwﬁﬁﬁﬁmwglﬁﬁlﬂ_'fﬂf-:ﬁ“-"‘f'
arar w=t A wre ey W, o fhae 1 gewdrex oAl 1 1% U el Ye fhar nan
R

(1) 27 (2) 42 (3} 54 (4) 142

(39) PTG
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131.

132.

1 i ; g
If the height of a cylinder becomes 3 of the vriginal height and the radius 18

doubled, then which of the [ollowing will be trie ?
(1} Volume of the cylinder will be doubled.
(2) Volume of the cvlinder will remain unchanged.

{3} Volume of the cvlinder will be halved.

(4) Volume of the cvlinder will be % of the original volume.

arﬁw?m:;mﬁawgmﬁm‘mgﬁ%?maﬁnﬁwmamﬁ
Pt i 9 @19 weg 8om 2

(1) 47 ®1 SRdA a8 ofluEn

(2) &7 @ HgaT § ®iE uRads g 8

(3) d6i7 @1 AT AT BT FICI

(4) AT HT 3TAA ARE aﬂﬂﬂﬁtﬁf%iﬁw|

The dimensions of a godown are 40 m, 25 m and 10 m. If it is filled with
cuboidal boxes each of dimensions 2 m x 1.25 m x 1 m, then the number of

boxes will be

UH TR TR & AT 40 m, 25 m @ 10 m # | 398 v e v T
R A MR 2 mx 125 m x 1 m ¥ 79, <@ o w93 o Ra) 0
ey gt

(1) 1800 {2) 2000 (3) 4000 (4} 8000

(40)
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134.

135.

18U/101/23(Set-1)

The ratio of radii of two cylinders is 1: 2 and heights are in the ratio 2: 3. The
ratio of their volumes is :

1 dort @t Aromsdl @7 argura 1 : 2 8 T g9 SEigdl & A 2 0 3 §) 398
SR T AT B

(1) 1:6 (25 149 (3) 1:3 (4) 2:9
Ramesh has three containers.

(A) Cylindrical container A having radius r and height ,

(B) Cvlindrical container B having radius 2r and height E% and

(C) Cuboidal container C having radiusr x r x 1

The arrangement of the containers in the increasing order of their volumes is
(1) A.B,C {2) B,C, A

3) C, AB (4) Cannot be arranged

e & a4 dF 9
(A) B r 3R SEE h aren U6 deeR ade A,

(B) T 2r i g giﬂﬂ‘l U% §EAER g6 B, AR

(C) Tt rx rx h FTE & gamTeR ga4 C

55 gt @ I TEHl B AR AR R H oaweT ¥ -
(1) A,B,C (2) B,C, A
(3) C,A,B (4) agfea =& 3 o wao

The present age of father is four times the age of his son. After 10 years, age of
father will become three times the age of his son. Find the present age of father :

far & Tdam I A g3 @ g B AR TN &1 10 T arg, foer @ ey s
o # oy A A e S| faer @ aaEe ey s SfeY

(1) 80 (2) 60 (3) 96 (4) 74

(41) P.T.O.
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Sx 2%

136. 0t '%;—4- h—_'L—,Hwn e nuemerical value of 2y 7 18
“
e i—h}—%, T 2a =7 W AHE B —
0y W (3) 0 @ B
I} — 3 -— 3 >
13 ' 14 14

137.  Arpila’s present age is thrice of Shilpa. If Shilpa's age three sears ago was
then Arpila's present age is

e &Y Fa Sy Rrem @1 amg A ferd 81 afe 3 9w few @ oy o
A ar aftdr A adae SHE| g

(1} 3r=3) el (3) 3x-9 (4) 3(v + 3)
138, A swmis taken for two vears at 16% p.a. If interest is compounded after oven

three months, the number of Hmes for which mderest s charged m 2 years is

BT g 1A B Ay 167, aiffe & ex 3 Jum R i R orm o B o
A IEAT @ & A1 97 99 F e ar e foan e ?

i1 S (2) 4 {3) b6 (41 9

139. Avinash lnmghl an electric iron for Rs. 900 and sold it at a gain of 10%. He ol
anuther electric iron at 5% loss which was bought Rs. 1,200, On the transaction

he has a:

{1y Profit of Rs, 73 (2) Lossof Rs. 75

-

(31 Profit of Rs, 30 (1) Loss ol Rs, 30

AfTAIE 4 g e = FE 900 To H WAl W SH 10% @9 W g faa o
TR e FH FE, S 9ES 1,200 Bo H wldy o 5, Bif w i ol T e
T BT

—3

(1) 75 %o w0 = ) 75%0 & &l
(3) 30 %0 @ &H (1) 30Te B T

(42)



140.

141,

142,
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Radhika bought a car for Rs. 2,50,000. Next year its price decreased by 10% and
further next year it decreased by 12%. In the two years overall decrease per cent
in the price of the car is :

AErET 7 UE dR 2,50,000 F L | aTel 99 9T you 10% FH 8 T o 9y
STl AN 12% B9 B A1 BR & God § g9 &) aut # g Jel uowd oA &

(1) 3.2% (2) 22% (3) 20.8% (4) 8%

6 men and 10 boys can complete a work in 4 days or 4 men and 10 boys can
complete that work in 5 days, then find in how many days 2 men and 5 bovs
can complete that work ?

U HF BT 6 AR UF 10 9D 4 BT # 0@ & € W I W B 4 agd w10
ded 5 B9 I @® PR wPha £ 0 A@a P 5 2 wed 1@ 5 %D 39 e @
Rt e o et ?

(1) 8 (2) 10 (3) 12 (4) 11

i : & 8% 17 bx
The value of x that satisfies the equation x+7 - —=—-"—" 1is;

3 6 8
8x 17 5x ,
Y T e S FHIENT ,t+?-—3-=—--—ﬁﬂﬁqaﬂm%.

(1)3 (2) -3 (3) 4 (4)

Length of a rectangle is 5 cm more than its breadth. If the area of rectangle is
50 cm?, then find the length of rectangle.

TH A @ s 99! Trers | 5 O oftw # ) ot omma @ asme 50 9 g
T AT @) oETg i i |

(1) 10ecm (2) 11 cm (3) 12cm (4) 12.5cm

(43) PT.0.
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144.

145.

146.

A rectangular paper of length 100 cm and width 44 cm is revalved along fs

TrA

—_—

width and a cylinder is formed. Find the volume of cylinder. | 7=—

100 Weriex oFarg U 44 GrerieR wierd 9 SMAdIGR FTW A dlers B IRE
¥ Arggy Rover & gl # A Bgr o &) Rremst @1 amEEd «Id I

/ 221_
5

.

(1) 3080 cm?3 (2) 4400 cm?

(3) 12320 cm?® (4) 15400 e
ISP stands for :

(1) International Service Provider
(2) Internet Shopping Provider

(3) Internet Service Provider

(4) International Service Processing
ISP &7 gvf %9 # |

(1) FETRFd AdE Wargs?

(2) s=e¥Ae WG yraged

(3) gove Aiew dEE

(4) g wida A

What is Linux ?
(1) Input device (2) Storage device
{3) Operating System (4) OQutput device

(44)
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AT T B ?
1) e feamsa (2) wEnd fearga
(3) HRfEn Ry (4) sm9ege fasw

Among the following which is not an operating system ?

Frfefea 9 | @9 st Rrew g8 & 2

(1) DOS (2) UNIX

(3} LetEx (4) Ubuntu

Which of the following is correct sequence of smallest to largest unit of storage
size?

(1) Petabyte, Kilobyte, Megabyte, Gigabyte, Terabyte

(2) Kilobyte, Megabyte, Terabyte, Petabyte, Gigabyte

(3) Megabyte, Terabyte, Gigabyte, Kilobyte, Petabyte

(4) Kilobyte, Megabyte, Gigabyte, Terabyte, Petabyte

T B W 699 T8 TR gy ¢ 0§ Frafoiea ¥ ¥ o o s
27

(1) Yense, fhoEse, #EEe, TEEe, evelse

(2) fraase, wEEe, COEEe, YeErge, EEe

(3) *TETge, CNEge, Amenge, eEEe, tewge

(4) Thataee, wmarge, MmeTge, SNEEe, UeEEe

(45 ) PT.0
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149.

150.

In MS-Excel, "=SUM(B?T : B10)" is an example of :

(1} Function (2) Formula

(3) Cell address (4) None of these
MS-Excel #, "=SUM(B1 : B10)" A% # fdbam ya Famewo & 7
(1) B (2) e

(3) &9 UzH (4) =98 9 &3 T8
The standard protocol of the Internet is :

(1) TCP/IP (2} Java

(3) HTML (4) WWW

gevde W §gad 89 qrel WAE Wi ©

(1) & </ ang (2) =
(3) vd & TH U (4) Se gt g

(46)
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14.

o TRAE B B AERYE TR T SoUHodRo STR-6 € & Al gl W

aafefat @ fore foda
Bae el /@l
qra-arE? T 9 8 frd)

e yfraet e @ 30 e & a7t 8l ad a o yema # Wl g TS & § Flg U
=1 e &) gfEEeT SHgE TR e q?gﬂaﬁ YA T B s 3 THe gl wETE

frT Zadl yRd®T e w A |

e W § FOEgH & JRfRen, fa o arer wig W gE ST wWe 8 d |

OMR TTR-T3 a7 @ faan m &1 gvt @ ot @ ol 7 & Rga &V g OMR FiF-73 787

fZar T HEe OMR T0Y3 & & Jewdd e Wi

e 2 o e #@ g @ e /A eE-wge A |

nmnw-ﬁaknmwwﬁﬂﬁmwmfﬁﬁ_wmﬁﬁﬁmﬁﬁﬂw

Ft TG I | WE-WRl ATavnd B T8 We-gReET @1 BAG aul Ve B T Sfw v

R fad |

o THo MRe BER-UF W SFIHHIG WEE, WET-YRGET W@ 4 He wwn (@R oarg =) aen

qE-GREE TR hEIE @ @Y Ao UHe AMe SoR-ud Wl 1 yiaftzd 4 anl aF».Hu—l G

AT T2 2|

aua ufdftedl § B o vRad e ee grr gl @ TR Al uv v wgfm
rea-gftaa § e we @ OR daied weR 3 T ¥ pw 5w # deltan wov 8
JTIH OMR v ¢F & T@ie ofen & @ 39 73 99 &t StR.oa @ mew g e fan e
freell & s did—@ige 04 & el &l 2|

G WET % S @ ford Badl U € g9 & War & U A HEE gar a5 o wwe w
ST U g B ST WY TR g8 FEN Tefd AT AR |

w7 fp v AR wd B SifdE anw agor T8 o wear & At W & uey @7 ge
A o Wred € 9 gwud dfdd @ wrm R 1 ol gl @ @l 918 ) g W g
w5 Wy

. FH 7 ol oW fRaw @ TETR F AW 9 9 99 dftm @l e o

FETT W |

T ® I angeff affo THo ARe TER-UFE UNET FE /WET # rfiew #1 sgvn oiy
<1 e St & weE-giee oY ate THo aRo TEN-UNG @ @I o7 Wiy 3§ o
@ A £

spuell ol e WATE BN W URS Uhe WaA F Aew W14 ) a8 e

als @z el wWam ¥ sFfaa W @ WM e @ @ aw Rvafaem g R ae
F/d qrf g /e



